\f\j@r'i&‘:‘n%'t #i : Armg) Washer J Shell  Metha .

T Arexs

L FIV\A ‘H’E areq O‘F ‘Hre reg’on bO(mcch b\l 7=fo) \/:_A-,)
Q\nd | y'—’ la-&x.

2. Fnd  the area  bounded by Y= [8-3x2 and
\/:: )(a‘l‘A.

3. A regon in quadrant T s kounckd by y= X,
Y:O, and X=L{.

a) Find te area of this vegion

b) Fad =~ o \olue of q o the part  of He
region above  y=ax  has the Same e g the
pa(‘t o Hte veqiat  belav it

oA regon s bounded by
and  x=0.

y:': G Ccos x ) \/: awscsin X

a) Set up integrl - wirih respecf o x that would
aie the wvta  of Fhe region.  Can \ou evalugte this?

b) Sl up on irkgrl o idegals ith vesed doy Ak
@Vuiuabd WH gie the Ot OF this region .
c) Find He ovea oF de region.




G, Set up an in&gml or mlfamls Fhet  vouldd e
He oaren  oF ke 'TOHGM“Q"

G) ‘ Y:'}ix*g :j %x 1 b)

_ \/:)-%,
T. Washerad Shell  Mebhed

l. The reg o0 Pounded b\/ V= 3x , x=0, y=6
is  revoed about the  follwmng  axes. Ta eh
case,  set up the wlume of the ol Rrved
using  bath  washer ond  shell el |

a) x=0 c) y=6
b) y=0 d) x=-5

Q. The region \oounded b\/ y“ l0’3)@) ¥ = Oj and X:!
1S revolved about  the axes  listed below.  Ih each case:

(1) st up an wlegral  dhed  gres ke volume  oF the resubtig
cold

(1) Rad 4o \olune.

a) x=0 ) y= -5

b) v=0Q d) Y= o



bounded by y= I, y= 3-ax,

3. T\“E r\eg;On
rewived gbout the axes fishe

ancl )(‘20 I3

belav.  Tn each case’

(1) Set up an wiegal  thad gives the wlume of the
resutbing  golicl

(1) Fnd te  volume.,

a) x=0 c) y=10
b) y= 0 d) x= -|.

4. The region  lounded b\/ v=6x ..10) \/=8) and x=-|
S revolved about  the e x=H, ]

@) Find the wlume of the sold,
‘o) F\nd a Value o a © 4he Pwvt of tie vegon
W e nght F x=a has dhe  come  volwme
s The port of the eglon 4o [FL oF *=¢. when
rotertect qlout x=Yy
5. For ‘H\.e région Shasn \Jeku/, set up an lﬂjcfgm\
thet  gwes tre wlume oF te ool when 1l regen
5 roluked by the  oxes guen:
\ a) X=0
b) \/:.'o

c) Xz g

d) y=-4




Worksheet #32  Addendum * Volwie by S(icing

G~ ﬂ\e baﬁe o¥ a 50||d IS the reg\on rﬂ ‘Ehe X‘7’ P‘a[\t
bounded by y= Hx = 9s8 ) and x=0. Fiud
Ho volume of the solid ¥ cross-seckions thvough it
H\ajt owe pwysemd\cu\ ar to  the X—Cx(S owe -

0) Squaves
b) E({/utlc&em‘ Triamghes

c)  Semcwcles.
d) W volume s lamest? Why dhould this e wibyiiue?

7- The lkase ofF a sohid is tre region v e xy 'biant

boundec! by e cunes V= 9—9,("’} y= 949 and y=0
as  shaw  kelow’

\/—-‘7/

7

d) Find the  volume o)E 'f:Le 0l e
SqUtk®s Peqoe«\cl\cu\av‘ o
L> e X- Qx5
(1) the \/ - a%s -

b) Set up, kut do vt ewlude an ifegral o ndegrals thel

would gie e wlume of tle soliel iF cross- sertians trough
tnav are pedpendicilar 4o tle v-axs gre  sentciles |

iF cross- Sechions qu\(j#'a T e
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